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General Instructions :

Question paper is divided into 4 sections.

It has total 18 questions.
Section A - 1 Question no. 1 to 1
Section B — 3 Questions no. 2 to 4
Section C - 4 Questions no. 5 to 8
Section D - 10 Questions no. 9 to 18

Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

TTHT=T [A59TT:

ST Fo797 Wedl;: GUST: Gl |
ST Jo777 STSCTGHT (18) Fo7: Tl |
Gue: ‘F’ - 1- JITEETT 1
GUE: ‘G’ -3 - JTaEI 2 — 4
&Ug: “7’- 4 - FIIEEIr5 - 8

@us: ‘g’- 10 - FTEET 9 - 18
1A [H33gaRr. 3¥41; GHIEge: |

ITRYIETHIT TG §9 GIIIH JITTEIT GG |
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@Us: &
AUTSATI-ATATEA] 10 IgET:
AUFSATI Sraarer

Unseen Reading Comprehension

1.  IfaIRad Tane qfSedn YEaseTm ST &b foad

frefafaa e = gt fe gu Tl % I HEhd W fafE :

Read the following passage and answer the given questions in Sanskrit :
TEhHAUTEd YRGS TRd TIH-EIH aftfd add | arayf: g sagfn | g
A o= A TG | ARAEERd:  SMYRYA  TUIgAH,. 9dd  — I
Y1 = | 99 TUR favard 7 U | e Agl § W U | Ay WY Th: Ud
st | fafausnfay ageg=n: s vrd faef | 9 od ardvraaEn: |
$Y:, HAWEAT F THY:, qG A ¢¥: YH: TUEE TRIIG AT | o
TR 9gRig SRt oI =gy vy STk HSTH TfUaae | uar
HOIH AR HEhIehaaTT: JERH 3THad | 00, ATl Td UaHTa-TH
I AT TR | AT TN FFT: Tomwafa qg1 HHadr: U9 TomT: Hiosald |

4T

(1) UHYSH I : (had THGIH)

T vise IR AR : (et 31 99)

Answer in one word : (Only two questions) 2x1=2
(1) R e v ?

(i) STEHTh hHI M TF ?

(iil) STMEATTCHRAT 3TET <UL shiget THdfd: ?

(3M) YuiaTeRH 3T : (had Y¥GIH)
9 dreF ° I T ¢ (sherel g1 I )

Answer in a complete sentence : (Only two questions) 2x2=4
(i) WRAEEERd: YR g o add ?

(i) ohGT TEHTH ¢IM: YH: T TRIUG TN ?

(i) <higem: ST WRd faaf 2

11-22 3 P.T.O.
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I e fghsegrens (Tgfad) sfdes foraa |
39 3<0q 1 4 A1 4 Weai H 3f=rd wMues fafay |

Write a suitable title for this passage in two or three words.

TSI, 3TRA : (had T
e IR G : (e o T9 )
Answer as directed : (Only three questions)
Q) qurgad’ 3f veed fersiwora fed

(A) I

(B)  3TERYdH

(C) WRAIEEh:
(D) 3fed

i) ‘ar’ 3fd ugw fohamaeq fuga :
(A) JAfed
(B) FH:
(C) T
(D) FY:
(iii) ‘Terfuqar fd framaes sque foga
(A) ST
(B) T
(©) T
(D)  SiSTeRET:
(iv) ‘Fwg:’ 3fq gee fomeieuen o T sy 2
(A)  Ham
(B) I
(C) dHfd:
(D) SHO=T:

Ix1=1

3x1=3



Tve: ‘@

TEATCHeR-hTaH 15 JIgT:

TOATCHS

Writing Skills

2. YIM/vad SUEETE Sid STy faied 96, gesw-eeres:

fheemgld sheal o 9H: foEq |
YRR i 3Te8 I A0S WM o fae foe T JieH-a9 # #Jes # fou
U S1G] Shi TEEAT § Tk TAMT i qid hich TH-TH i IH: TR |

In an application written to the Principal for a good character certificate,

you need to fill in the blanks with the help of the words given in the box
below and rewrite the same. 1 0><§ =5
EEL|

N

(1) ,
ERIEICIRE

o
M ey fqgmes:, 99 foee,

(i1)

g Aoy e aq 79 wler-aiond: (i)

SITd: | 3718 GIETehed T goasiifa: Ifasrad (iv) T IefvteT |
grgfd S Jouned =TT (v) Fad |
P HEH (vi) Y@ (vii) ___ Fdg | W
HeTfaene™ B (viii) gAY: I | AME Tadq TS
(ix) TR |

Tl |

Had ﬁw:/ﬂa?ﬁm farsan
feme (x) |
AT

HEIGAT:, SEvhdl, HaTA, 3IgHMNG:, TATAIHUTY, IR,
5, TAH: /AT, T4, FEHH |

11-22 5 P.T.O.



3. (%) WHNVI-UGTRECHI FERAAT ALIIRIAREl ARl Fheemr i e

el gq-: forEa -
ol ¥ T U sreel s dgEar @ e foEt s § e T e
HAT I 9-: fafau
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same : 1 OXE =5
FUENIS IS E RN TH TR ST | a Ty T
(ii) g | o feenfia: ST (i) | Thal
HfTag =Y: T ARG | I: IFTH (iv) ST St |
AN = (v) ___ fquld | dvga™ (vi) I S
STel Sgl: 3¥E | 99 Saran: i (vii) g 3gqad | d
STl ficdl Ut (viii) e FSd | | dWl
(ix) e | feoaes: Sem. (x) | @ fg s
Hehl: AHG |

o

fewaee, fiem, walgy, ofy:, fosnagy:, Afeaem, a4fd =,
SITeH, 3Teh=d, AUGeTshur |

AYAT

(@) AGIfIRgq-gare Nre T I ¢
frfafaa gag o ok Tom 9fte .

Fill in the blanks in the following conversation : 5x1=5

FIHT; — Toh THNY Afgeh | 3TEHTh I G TohH TR |

TmHl — () |
GIHIT: — FIHHH AT HFAATSTEI-ST TAHH | 3T STNCE
31l & ?

11-22 6



Tlgdl  — (i) |

FIHT: — W | 3 T4 FSeT: I TF Faaf< ¥ | 9Rd AW oA
Al HO*SIICI‘-I\?

TG — (iii) |

FFHT: — MY W AT T RONCT TA: Tshadi Ul Wa:
I | Th: I AU Wa: I | 9 F9 T

~

AT ?

TZH  — (iv) |

FIHT: — M MY | IR SIS I H: T | THEtare=
g %: 99 TadH ?

FgH — (v) |

FIFT: — AW | AEHUE q 9 Hihgeeh SIAREAl: EaT hal |

ageIEyr-d TH: a4 3MVcar TEU geal 9 SREA

gidHad: A |
4.  AGTARGAATRIY HUSEH USRI TEhdd JIIATG Hed

fFrefcfiad amei # 9 fohegl uter JTerRil 1 |&ehd | ITATG T

Translate any five sentences in Sanskrit from the following sentences : 5x1=5

i) 9 31 fUar o @1y g A g |
The son goes to the village with his father.
(i) 7 % gEI AR IAE |

There are trees on both sides of the river.

Gii)  @far gfafeq feemes S 2

Sarita goes to school everyday.

(iv) STcTh hell H TeAlsh Td 8 |

The boys sing shlokas in class.

11-22 7 P.T.O.
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(v) BH 99 ¥HU & T =g T o |

We all went to Chandigarh for excursion.

(vi) Teoum et S} STEt |

Divya will go to Varanasi tomorrow.

(vii) ohi-ehT o TUQT 3T&AHH B |

Kanika’s father is a teacher.

Qus: ar

AT H-SATHIITY 20 SIFT:

ATIIh-SATHIUT
Applied Grammar

ARG WTgd-UgHT Tf-ase af-d a1 $ed : (JTINh haerq )
fafafea sl § WEifehd 9el &1 wfu-fo=ae stwen @f fifvw .

(haet B: TI)

Disjoin or join sandhis in the underlined words of the following
sentences : (Only six questions) :

(i) I HIsTY STa=hm: |

(i) ~ TQm8 e + AU Ta: |

(iii)  dfchuty JI=s T |

(v) wa: TEeiy frezmmor: |

(v)  dgaq gavifig T wfd Tem |

(vi) UG |
(vil) =Ty fe S qiferdam |

6x1=6
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N e ~ Y oI ~ N
FifAfgqarey  @ifgd Ugq  3fud  Tmeque foug a1 edfaeheds:

o haN >
oHd : (Shadd TIT=IhH )

feferfad arern ° T@iferd 9ei o1 3fd gaed ge 1 3fua faurg =61 yed foashe

& 9 ; (e ot )

Select the appropriate expound from the given choices for the

underlined words THEUE or TaUE of the following sentences

(Only five questions)

(1)

(i1)

(iii)

(iv)

STCIHT: EHbTT: ;|
(A) & 3dq

(B) + qam:

(C) q&mHE:

(D) &R 99T

M | ST |

(A) gt Hra:

(B) = Hra:

(C) AT HIal I8 9: qcaeegl

(D) gfwEmn: Ama:

ERASIA! et e wea: |
(A) S =i,

(B) F¥: 9i: I F: 7,

(C) o 7Y

(D) STV SO FHTEN:

q: TIHYHE I qe0ifed Fagisafd |
(A) o 3f=aq

~

o~

(B) 3wy smfdshe
(C) 3ferd e
(D) 3 qeaT,

~

q

5x1=5

P.T.O.



(v) TaaHd e fUall = @i wirse: |
(A) Hm@r = foar =
(B) Wig: @ fuq: =
(©) Toar = fuar =
(D) wE= ==

(vi) AT Wfosarf e geun foeamee: 31vg |
(A) To=emYy 9gm 9= 4

(B) Ta==m: = 9e: =

(C) To=srm sHfah=

o

(D) Ta=srA IgH =:
(vil) FeIEq T 9IEET Had |

(A) TRUIGHH

(B) TRUICHE

(C) TReTeH,

(D) TRUIcH

7.  SAURgqaERy W@iigddeHl dgfad A OWTeia a1 Sehid-Seae
yed-fasheu: faqd : (haet TevesHy)
frafcfaa IRl # {@iferd Ual o IUYTh HYH AT Ta¥h Th{d-Sc™ AN i
feu gu fashedt o & 9T @ (ot ©: yw)

From the given choices, choose the correct combination of joint or disjoint
set of suffix for the underlined words in the following sentences :
(Only six questions) 6x1=6
(i) AR TC: |

(A) TH + od

(B) TH + Fdq

(C) TH + d=uq

(D) TH + IR

11-22 10
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(ii)

(ii1)

(iv)

(v)

(vi)

gfufsst: @1 ga g + g + &aq |
(A) TIEH
(B) ®dam
(C) wiaar
(D) ®IiaH

fHgiss setem gl |
(A) ¥ + Hq9
(B) ® + Fddq
(C) & + dd

(D) & + ds3q,
T‘la'l'é’ Gﬁﬂ Ay Hd: |
(A) S + 3

(B) N9 + M
(C) N9 + &d

(D) S + qeAq.

313: TgaRfu faremmor: |
(A) T1e1 + gy

(B) Treg + s

(C) Toreg + aqq

(D) T1Eg + 3q

TIPAR + S Fafaen fsommar S |
(A) TSHHM

(B) USHHME:

(C) TSHATR

(D) TFHROM,

11

P.T.O.



(vii) AT F-EALAIH ATehed foh swef=d ?
(A) THdHE + T
(B) ETEHH + dq]
(C) TN + Fdaq
(D) TEnHiA + &

8.  THIAH IYUe-foufred fugd | (had T =y
I9YTH ITUG-TAWRE §9 I FHT | (had T4 T2H)

Choose the appropriate subordinate clause form. (Only three questions) 3x1=3

(i) T yfeaeay |

(A) DA
(B) HIeH
(C) I
(D) HICH
Gi) ‘IR
(A) 3AHIq

~

(B) 3IHHH

~

(C) 3IIHWY

~

(D) 3IHHTRH

(iii) "R fRee= a9 R sgm: |
(A) 3T
(B) M
(C) A=
(D) AR
(iv) fTRwead: _ stfuseca T wfoay 2
(A) WY
(B) 3@H
(C) HaH

~

(D) HH

11-22 12
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Qus: 9’
(i) ufearasneTq
qfea-sraaied

Reading Comprehension

ARG T lScal TEHTHAT, T HEeha IR

freafcetfga e sl gt 38 W IMUTRA Tl o IR T%hd H N :

25 JFT:

Read the following prose passage and answer the questions based on
them in Sanskrit :

ATgedt w9 | fugeat wa | semieal wa | sifaferqdar wa | A serRnt i,

T BfdeaT, T SaUfT | Ik gaiar aid e, T gaqr |
31 AT @ HAfAReaT a1 JATAfohed] a1 TG | ¥ T SIE0N: FHIME:, J<A
ST, TGET: GHBML: :, IAT d OF Tt a2l T Jan: | TY e | T

IUCH: | TN AN |
q94T:
(1) UhYeH I : (hadd TG

Teh Y6¢ § 3T ST : (Shaed & I9)

Answer in one word : (Only two questions)

() T4a1 : wa ?

(i) gaufor (Fefq) ifa 7 afaqents 2

(iii) ST <hT ?

qUiATeRI ITRA @ (Shadt J¥gIH)

QUi AT H I G : (e &l T

Answer in a complete sentence : (Only two questions)
(i) ST shigem: & ?

(i)  hIgRIT AT HfdqeaT ?

o~

(iii) BT cagrEAT 2

JYTEI 3T : (Shad g
frdemgem s §fT : (e @ T )

Answer as directed : (Only two questions)
() ‘aaw sfa s #qug foh 2

(i) ‘wuifor sfa vee R fome 2

(i) ‘graay 3f vee R fe 2

13

2x1=2

2x1=2

P.T.O.
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AYIfTRad qe ufdcal TEETaH T H8hd 3T
frafctfad ae i 9t 30 T TTNG T & I T&hd | ST

Read the following poetry and answer the questions based on them in
Sanskrit : 5

Z[Uﬁf[ﬂiaﬁ:{aﬁﬁ'ﬁm:,
Scll 91t 9 | dfd Fea: |
fUen! g@=a%g TIU1 1 9,
1 = 959 9 9 qu: ||

(1) UhYeH I : (hadd T¥HGIH)
Ush Yeg § 3T ST : (Shaed g T9)
Answer in one word : (Only two questions) 2x—=1
(i) Toft & A ?
(i)  TUeh: HEI TOT AT ?
(iii) Teet: & F af ?

(M) qufaTeRM ITRA : (had TGN
o A # 3 AR ; (e 3 )
Answer in a complete sentence : (Only two questions) 2x1=2
() Toee ad *: 9 JHd 2
(i) Toe= 9 &: SIEIA ?
(iii) ITEE: B IO 7 JHT( ?

(3) IuTfdym 3% : (hadd I3gIH)
feaTgam ST &S (et 21 ww)

Answer as directed : (Only two questions) 2x1=2

i) ‘R 3fd deEd qERTg T ?
i) ‘Fea:’ 3fd ee fauiag fory 2
(i) ofY’ fa hefuee framug form 2

14
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ARG ST IfSeal TETETHAH T HEehd I :

frfiRaa Teamer o1 gt 36 W IMYTRG TRAT o I THhd | T :

Read the following part of a drama and answer the questions based on it
in Sanskrit : 5

TgreTaT — (®fecan) qfg IHf=d @ Igg g faargered wiieg 1 sa1¥ |

FUEAT — Tob ST qar ?

TETeTaT — SEraTieHt Ay | =Rt 9 e e Sfiaenen ety |

PUSAT — AW AR ALR-E AL = | T AT A TghRAaead add
T ST hAY gty 3TUeTd J: a6l Taas &1 |

TETTET — ATTEd Heehd HATALIhd] JTaed | T guel Sfiauy Ifagag =
HEATMY Fgd: kg Ry |

PUSTT — AT TG ThT(h1 TG |

mererar — (fogwa) afc & foma afaTs SIS qe1 Teptiohl wiosay o
Ueh: 34TY: Ay fafa: 73 |

PUST — h: UM ?

TETTET — TEIa Aifgcd-ATeie sl @ g sge: fger g
TerEy |

94T

(1) UHYSH I : (hadd THGIH)
Ueh Yeg U I ST : (Shaet g I9)
Answer in one word : (Only two questions) 2x—=1
(i) WTET &1 Wiasafd ?
(i) AT Y AT ?

(iii) TETAHT hed AEIThdl 7 WA ?

(3T) UiETRA ITRA : (had T¥EIH)
QU1 ST H I T ¢ (Sheret &1 )
Answer in a complete sentence : (Only two questions) 2x1=2
(i) TEH giical TiCaTaiayy $Husal Uid foh Hfd ?
(i) HETAHT =R 9g I foh el ?
(iii) TR e fry everd 2
15 P.T.O.
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(3)

TG 3T : (hadd TG
freemgam S €T : (e g 99 )

Answer as directed : (Only two questions) 2x1=2

() ‘frsate’ 3fa fRamaeer squg foh S ?

i) ‘wgra:’ sfd fasivudes foRrsgg fey 2

(iii) ‘3T8H 7 HEATMT Tohd: g IRAH T IRl ‘3T8H 3fd FeAHIG
FE I ?

IITANGT T2 Taef ToquTiga-greq: QR 4A: for@d

frefetRad wer 1 wrane weu § fou T wreet & Wikt gH: fofem

Rewrite the gist of the following verse by filling it with the help of
the words given in the box : 3x1=3

AATRT TYHME, AATCIHTEAT |
epfecterurey, ferdia safeemn ||

wramel:
e W (1) oo gple: @&t | (i)
FYfes-dl fafd: 39 | (ii) Jfed |

HST

d, TEahAEd, gieerT |

at (OR)

JEAHTATAT g Hrane e for@a :
fou gu = wranerf # € wg wrened g fofE

Write the correct essence from three essences of the following each
part :

(31) ‘FmTEATE! IeTEwRganE |
(i) 7 STIAMERA IMHAT g ThHYLHT e TR |
(i)  STAMERA IMHAT IGET I |
(i) EITEhT IMfad TR ferdem |
16
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(3m) ‘g ge wiifaraish

() T gy |

(i) o3 99 90en KUY |

(iii) 378 Td HiSTRIE HaaH |
(3) ‘semediquty o wiasafq e |\’

(i) TH 9%d UqHT GRETed, T 3 STAMIHRAN g9y 378 ey |
(i) 3¢ 9% HHTET T 7H T9 ©I1q |

(iii) 3eATEd 3fa famaRicar Hisfy F=gse: 7 wafq |

FIARIA-TATRE el 3 NREHIH HoS[NTIEH-SIegHT HaTiae I
frefafigd woireh o fod g st | Tk T < gfd wssw # fou q wreqi
TR ¥ I

The prose-order rendering of the following verse is given. Fill in the

blanks with the help of words given in the box : 3x1=3

TN &Nfa: o, AEHI SETG |
I TS IIATH, TTAThIvIHana: ||

I
FT N (1) AAEAO: ;AT (i)
ITAThI 39 (iii) TR |
HSSTET
TEH, SENR:, 3TAC: |
17 P.T.O.



14, F T Il @ WIS IUYhATR: 98 U $Ed |
® T % IR Bl @ TE % IYH a1l oh a1 A Hif |
Match the sentences of column ‘%’ with suitable sentences of column
il 4><é ~2
‘h’ Tary: G’ Eqry:
i, SyalisgHg Wil 1. 4 o IRt |
i, oy g st 2. Tugisg sorad g |
iii, fooma: wafag s 3. oW wElifaEmn: |
iv.  IRIY WH T agEdt 4, fIower mAudfsaETy |

15. ALfIRgaary {@iigd-agHT SaEHER IgH 1 Aesmma: foean foreq :
frfaiRad STl § T@iiehd g1 1 JHTHAR g 31 Tou[ol § TR foIfay

Choose and write the appropriate meanings of the underlined words in
the following sentences with the help of the words given in the box : 4><i =2

2
()  3fg o wufatafrer ar |
(i) Tfeqed et G0N ST |
(iil) AV FYATAHT G fHawiyomg |
(iv) Ogad Aged foifaa: Fame qumer=ae: |

(i) HEFAATECAET HHTATRE: 10 sigT:
HEha ATEed T ATHT e

General Introduction to Sanskrit Literature

16. AUMARIAITAHH T 7@ : (haed T
frafafga geat & 3 foifae : (Faa 7 99)

Answer the following questions : (Only three questions) 3x1=3
(1) TR T TTAT YA ST UISET FegHIRY: o ?

11-22 18




(i)  HAgyTEg AR TEh: h: ?
(i) “ATTET YIS TARGehT o1 ?
(iv) ‘TretsasEy sfa e AR &: 2

17. AN YEORTegHT dTere fhee iy e foea | (shaa Joeem)
T § O ™ wegl f wemar @ fb wEl A gfd e fafew |
(haet A I9)

Fill in the blanks with the help of the words given in the box.
(Only three questions) 3xI1=3

() Al AR wafd |
(i) ‘el 3fd T-o"T Tigeh: AAfeq |
(iii) S-eRigdl T HId |
(iv)  shifergred Ued ‘Hegas HiEd |
RESL
TEH, SIS, QUSHETH, Y |

18. gYfud Herdd :
agfaa e $ife

Match properly : 4x1=4

1. SR CINEISE |

TR IEONI L= TgTehiel: WTH:

iii,  CHhET JUHY ITEH
iv. EIhAThR:

L e

11-22 19



Marking Scheme

S Strictly Confidential

(For Internal and Restricted use only)
Senior Secondary School Certificate Examination, 2024
SUBJECT NAME SANSKRIT CORE (Q.P. CODE 22)

' General Instructions: -

1

(T.

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand the

spot evaluation guidelines carefully.

“Evaluation poliey is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action

under various rules of the Board and IPC.”

fs[

e 4
|

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one’s own interpretation or any other consideration. Marking Scheme should

be strictly adhered to and religiously followed. However, while evaluating, answers which are
based on latest information or knowledge and/or are innovative, they may be assessed

for their correctness otherwise and due marks be awarded to them. In class-XIl, while
evaluating two competency-based questions, please try to understand given answer and
even if reply is not from marking scheme but correct competency is enumerated by the

candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers
These are in the nature of Guidelines only and do not constitute the complete answer. The

students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

f:/l
/

The Head-Examirier must go through the first five answer books evaluated by each evaluator on
the first day, to ensure that evaluation has been carried out as per the instructions given in the
Marking Scheme. If there is any variation, the same should be zero after delibration and

discussion. The remaining answer books meant for evaluation shall be given only after ensuring

that there is no significant variation in the marking of individual evaluators.

|

Evaluators will mark( V ) wherever answer is correct. For wrong answer CROSS ‘X" be marked.

Evaluators will not put right () while evaluating which gives an impression that answer is
correct and no marks are awarded. This is most common mistake which evaluators are

7

committing.
If a question has parts, please award marks on the right-hand side for each part. Marks awarded
for different parts of the question should then be totaled up and written in the left-hand margin

and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9

!
|

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other-answer scored out with a note “Extra Question”.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

10
11

A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in Que._stion
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

ﬁé

|

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every
day and evaluate 20 answer books per day in main subjects. anq 25 answer books per day in
other subjects (Details are given in Spot Guidelines).This is in view of the reduced syllabus and

13

number of questions in question paper. . :
Ensure that you do not make the following common types of errors committed by the Examiner

in the past:- ~
e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.
Wrong totaling of marks awarded on an answer. _
Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.
1

\



Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect

answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

1§

Any unassessed portion, non-carrying over of marks to the title page, or totallng error detected
by the candidate shall damage the prestige of all the personnel engaged in the evaluation work
as also of the Board. Hence, in order to uphold the prestige of all concerned, it is again
reiterated that the instructions be followed meticulously and judiciously.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for

Spot Evaluation” before starting the actual evaluation.

| Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the

title page, correctly totaled and witten in figures and words.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of
the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are
once again reminded that they must ensure that evaluation is carried out strictly as per value

| points for each answer as given in the Marking Scheme.
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